Time : 2 Hours Max. Marks: 100

ITO Paper - 2 (Advanced Accountancy)
(Objective Type) (Without Books)

9th September, 2025 (Shift 1 — 10.30 AM to 12.30 PM)

Important Instructions: All questions carry one mark each. For
every incorrect attempt 1/8" mark shall be deducted. In case of any
doubt, the English version may be taken as authentic. Wherever
Assessment Year is not given, it may be taken as A.Y. 2025-26. In
case of doubt in respect of the answer, choose the most
appropriate option for the given question.
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XYZ Ltd. located in Bangalore, India manufactures colour televisions and exports
them to France and Belgium. The company has valued its inventory of finished goods
at realizable value, inclusive of profit and export cash incentives. The ownership of
these goods is yet to be passed to the buyers. Is the valuation method adopted by the
company, correct? If it is not correct, how should the closing inventory be valued?

a) Yes, the policy adopted for valuing the closing inventory is correct.

b) No, the closing inventory should be valued at net realizable value, however,
export incentives should be recorded at the time of export.

¢) No, the closing inventory should be valued at lower of cost or net realizable
value and export incentives should be recorded at the time of export.

d) No, the closing inventory should be valued at lower of cost or net realizable
value and export incentives should also be recorded at the time of valuation
of closing inventory.

XYZ fifdes ot {6 Totep, oiRa # Reaa 2, wer &.dt. gerdt
2 3R Iawr ferfa wia 3w Afcergdmdr A w2t T PBust
STH dem oraia & dber Sedfed I oNMiACT Hrd U 37Ul =2
AT B JFAT BT Ud FHeT UT 3BT & | AT Bl diidca 379
AT B UMA GIlEl dlhl &1 Il buel b Rl U=Mor & 918
qcaibar At =& 2o afe @& @, ar sifte Ater FET
AT hA bR J aa ear srer aifgu |

a) &f, 3ifdd AT A B TAE u=Aor B 918 FHicber  fafer
AET B

b) &l, 3ifTd AT JET BT Yg UTH FeI UL 3Tl Sirell
ey, odaie feafa & for @Y o arar sifea oY
forafa & e Pram ser anfsu |

c) at&l, 3iforeAr dATeT FAN B AcHidwe, EITd AT Yeg U
AT H A PoidA I U fHar e anfgr 3R ferwta
@B fou sxifea o fofa & Jaa R wzear anfau |
d) <i&l, 3ifad HATeT JIT BT HgAidbel, oOTd AT qeg  UTd
AT H A Pera# AT R [ e amgr R forifa
Siled dI 3ifdH AT JIAT B FHodidbd & ATl Brar
ST AIfau |

X has closing stock which cost Rs. 38,750/-. This includes some damaged items
which cost Rs. 3660/-. It will cost ‘X’ Rs. 450/- to repair these damaged items. He
will be able to sell them for Rs. 1500/- after the repairs are completed. What is the
correct value of closing stock?

a) Rs. 38,750/
b) Rs. 36,590/
¢) Rs. 36,140/-
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d) Rs. 36,000/

X &P UTH . 38,750/— B AR bl 3ifdH IEb a1 =AH
. 3,660/~ Bl AATOTd Bl FKH &ifcqard ATATE off onfder 21 X
B gifcoRd axgaii & FAFHAT BAA H Jb. 450/— BT JA
BT BOM| HIFHAT HAlSl B dld I8 3o dxgs3li bl .
1,500/~ & I AhAr g1 3ifaar e &1 JAE Ao o= &I ?

a) /. 38,750/—
b) . 36,590/—
c) 3. 36,140/—
d) 3. 36,000/—

Read the following propositions carefully:

(i) In case of amalgamation in the nature of merger, difference between the
purchase consideration and net assets taken over is treated as goodwill or capital
reserve.

(i1) In case of amalgamation in the nature of purchase, difference between the
purchase consideration and net assets taken over is adjusted in general reserves
or other reserves.

Which of the above statements are true?

a) Only (i) is true

b) Only (i) 1s true

¢) Both (i) and (ii) are true
d) Both (i) and (ii) are false.

ferger uzamdal bl eaTel A ufeu |
() o 0 Fadce & Bafa &, o ufawa gar i
oS JAufaAl &t geg IMRA|T B AT H Isider AT
3RféTa gsit HATET Siar 2
(i) BT U JFAoa B Rafa HA, b ufdwser genm &t o8
JAata @t Qe MRARIT & 3iaT Y ATeRer Rigrear &
AT 31T IR A FAFARNSa fpam smar 2
Iudad bl H [ Bl AT A B FEI B ?

a) pact (I)JAST 21
b) PBaci(il) JET B
¢) (ha (i)eret A8 B
d) ()a (i) eIt oteaa B

Which of the following is/are the advantage/s of buy-back?

a) Free reserves which are utilized for buy-back instead of dividend enhance
the value of the company’s shares and improve earnings per share
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b) Surplus cash may be utilized by the company for buy-back and avoid the
payment of dividend tax

¢) (a)and (b) both

d) Neither (a) nor (b)

ST b B fordel A A hlal A oTH & ?

a) drg do B U ugad, il B WA U Had
MR BT U=ior, wusll & R B AT Jad
FHIAT T IR ufay R Iureiar A JFuR B B

b) 3TNy Jbs BT YAl hUel gRT 9T ob B ou
BT ST ABAT & 3R THIT B2 B Holdlel A adar oI
JAHAT B |

c) (a) 3= (b) =t

d &1 (a) 1 & (b)

Which of the following is a correct journal entry to record the loss incurred by a
consignment:

a) Profit and loss on consignment Dr. & Consignment Cr.
b) Consignment Dr.& Profit and loss on consignment Cr.
c¢) Profit and loss on consignment Dr.& Consignee Cr.

d) Consignee Dr.& Profit and loss on consignment Cr.

oreer # JF dia A S ufafe, wwor grr gg afer & Rere
HI B AU FTE B

a) TIUUT U AT/l sfde, dam uwuur bisc |
b) TRUUT 3fec dam UINWUT UT ATH/BIel hisc |

¢) UINUT UT cATeH/alel sfae, dem wftidr sisce|
d) RN 3fde demr uIwur ur dArH /BT Bise|

Subhash, Raman and Bhaskar were equal partners of a firm with goodwill 1,00,000
shown in the balance sheet and they agreed to take Rohit as an equal partner on the
term that he should bring 1,60,000 as his capital and goodwill, his share of goodwill
was evaluated at 1,20,000 and the goodwill account is to be written off before
admission. The goodwill can be treated as :-

1) Write off the goodwill of 1,00,000 in old ratio.

2) Cash brought in by Rohit for goodwill will be distributed among old

partners in sacrificing ratio.

Choose the correct option :-
a) Only 1 is correct
b) Only 2 is correct
¢) 1 and 2 both are correct
d) Both 1 and 2 are not correct

Joi office & g o8 . 1,00,000/- @1 gsfde arell ves
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BH H FHATRM, IHA 3R ARDBT AA ARPER! IJd & AR T
Afgd BT JTATT AP b AR A H SHA od U AP
FATel I AT ad & % a8 H. 1,60,000/- 3MUsl Yol @
qsfaet & B9 H 0o, IJsAad B HA H  IABT 3T
. 1,20,000/— 37l AT ST &1 JSIASA Pl A UHBIR AT
ST ABT &:—

1) . 1,00,000/— &I IPSTdA DI YAl IFUld H TATARSIT

TpaT SITEaTT |

2) AfFa =T s & fow arg org IfST grrar Agerst #H

3elch ST 3gUld H dic & STl |

FE [a®mea geoi:—
a) dacT 1 JAsl B
b) BaT 2 HAS B
¢c) 1 3T 2 crar AST B
d 1 3T 2 S JEr 8t B

A, B and C started a business with initial investments of Rs.10000, Rs.20000 and
Rs.10000 respectively. After 10 months from start, A invested Rs.5000 more. After 4
months from start, B withdrew Rs.10000. At the end of the year, they will receive a
profit of Rs. ‘x’. In what ratio they will share the profits?

a) 23:16:8
b) 13:14: 16
c) 26:32:10
d)13:16:12

A, B3I C& oA . 10,000/—, =». 20,000/~ 3T
. 10,000/— b URFHb forder & AT AU 3MFH  har |
3MIFH BIA P 10 HEA d€, A . 5,000/~ 3NT feraer
fPU | 3MIFT B3 D 4 HEG o€, B . 10,000/~ b
e Jer & 3ifd H 3@ X H. BT aH Eeni I eI rgurd
H oM b1 faa2or v |

a) 23:16:8
b) 13:14:16
c) 26:32:10
d 13:16:12

Consistency about the application of accounting principles refers to:

a) Income and assets have not been overstated.

b) Accounting methods and procedures used have to be consistently applied from
year to year.

c) All entities in the same industry should use identical procedures and methods.

d) Any accounting method or procedure can be utilized.
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Eicha RTgidl & Iutaeia & a1 H Horddr cordl 2 b

a) 3T 3T Aura o 3iferes ueffa =gt fear om=m 2

b) W=NeT &I Sl drell oider Afteit @ ufteeamr Jmer @2
AT TH-HIdl A SATOL BI Siell ANET |

c) JAHATT JeEior bf A Shprsai bl AFAHUT ufceam  ©wd
fafere w1 g=er wReT A |

d) Si=ripar &b pis oY fafer = ufteam, w=nor & «@rg o
Hebal 21

Which of the following are fundamental accounting assumptions:

1) Going Concern
2) Matching
3) Consistency
4) Dual Aspect
5) Materiality
6) Accrual.
Select the correct answer from the options given below:

a) 1,3&5
b) 1,4&6
) 2,4&6
d 1,3&6

fordet F A Pl A 3MaReIT AJAbel ITALTRUNT 2
1) oNSoT el

2) TWhHudl

3) fe=a=ar

4) s 4l

5) afNfaeparard

6) UIgaTdel

a) 1,3a5
b) 1,496
c) 2,496
d 1,3a6

10.

On 31.03.2025 a business firm finds that the cost of a partly finished unit on that date
1s X 690. The unit can be finished in 2025-2026 by an additional expenditure of X 300.
The finished unit can be sold for X 800, subject to payment of 4% brokerage on the
selling price. The firm seeks your advice regarding the amount at which the
unfinished unit should be valued as at 31.3.2025 for the preparation of final accounts.

a) X690 per unit
b) 468 per unit
c) X768 per unit
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d) ¥ 800 per unit

feslice 31.03.2025 I TUh TIATR™D WA Bl As UaT IdoAdT
2 & 33 Oy uw vwe 3Nl JATa THIE B AT d
. 690/— &1 :. 300/~ P TP 3MfdRed =T A 3T ShIs bl
a¥ 2025-26 H JAATT BT ST Abar &1 &THT AT 9= 4%
Bl ATl SHBT IA JHATT Shlg bl . 800/— H AT OIT
AbdT B  HH  3MOgA A el aredar & b
fedics 31.03.2025 o1 3ifddm =mdar dead b @ rTAATT
THIE B HAodidbel I ATIT a7 Bt A1ET |

a) Ufd ShIs . 690/—
b) Ul ShIs . 468/—
c) ufd Shig . 768/—
d) ufa s . 800/-

11.

According to AS 9, when revenue from the sale of goods is recognised and recorded
?

a) When the seller has delivered the goods to the buyer.

b) When the seller has received the price of the goods from the buyer.

c) When the seller has transferred the property in the goods to the buyer for a
price.

d) When the seller has fixed a price for which property in goods will be
transferred to buyer.

AS9PB BIFAR, a=G3T B bl A Urd ARG Pl BT AT T
ol AT SITEer ?

a) oid faIhar of ®ar d AT ugar T &

b) ST fahdar @Y dal A HATA BT ITH UTed & gkl &l |

c) oid fabar & B T Uz, Par & JHEE H ferEa
Jufa & 3iaRa w2 fe=m &

d) STad fabar o bar r 3ialRa s arelt #ter A ferfaa
Juty & 30T B o B Fqou eraiRa w2 f’ar &

12.

Books of ABC Limited revealed the following information: Opening inventory
5,00,000; Purchases during the year X 45,00,000; Sales during the year X 50,00,000;
At year-end, the value of inventory as per physical stock-taking was X 4,50,000. The
company's gross profit on sales has remained constant at 20%. Management of the
company suspects that a new employee might have pilfered some inventory. What is
the estimated cost of missing inventory?

a) ¥5,50,000

b) 50,000

c) ¥55,000

d) None of the above
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ABC foiféies & wal A fereataiRaa oiersst ura g2 1 3mfars
Soddl . 5,00,000/— d¥ P ST FLSST . 45,00,000/—
a¥d & SR & H. 50,00,000/~ a9 & Iid H, HAifas
FIh—cfpol B 3IGgAR Fodgl HI FHeT J». 4,50,000/— AT
BUl BT R&IBT UT AbaT 17 20% UT R &1 81 Huedl B
Udere i dds o [h fhft au e o |® sd g1 oot
EIoft | oTIId St &Y 3TgHATSId olold oFIT & 2

a) . 5,50,000/—
b) 3. 50,000/—

¢) . 55,000/
d)  TaH A b ot =&l

13.

While finalising the current year's profit, the company realised that there was an error
in the valuation of the closing stock of the previous year. In the previous year, closing
stock was overvalued. As a result :

a) Previous year's profit is overstated and current year's profit is understated.

b) Previous year’s profit is understated and current year’s profit is overstated

c) Previous year’s profit is understated, and current year's profit is also
understated.

d) Previous year profit is overstated and current year profit is also overstated.

giel, a9 B T HI Jefad Hwrd JAHAA, HUSl Bl HIA FITT
T Uect AT & AANG HSRUT B PHiAT foegiRor H | I
g3 3 fusst Jc1, JAANRI-sSRUT &t BtAd SI&T oo & 18
ot | ey

a) fUssr ATer & Ty B Ferp =T o= B e dteg, ad
P ATH bl b SHTAT OrRIT & |

b) freet AT & T Bl gerhR ’Smar o & derm areg, ad
P oA bl Tolche IdTIT ST & |

¢c) Usct AT T diel, dy¥, Cledl duf & ATl Bl gerh
IATAT =T B

d st AT T dlel, du, dlell duf & Sl Bl IGTB
TATIT Or=T & |

14.

Reduction of Share Capital of a company means Reduction in —

a) Only called up Share Capital

b) Subscribed and/or paid-up Share Capital
c) Only Authorised Capital

d) Only Uncalled Share Capital
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b) JATUG 3TR/AT HordTel &t o A=R—Yoll |
¢) daoT 3feRa Yo |
d) dact 3TETEda R Yol

15. | Which of the following statement is true about the declaration and issuance of Bonus
Shares?
a) Assets are transferred from the company to the shareholders.
b) Bonus Issue results in a decrease in retained earnings.
c) Shareholders' Equity is reduced.
d) Bonus Issue is the same as the declaration of dividends.
TeTA AIT B YO TG S [hu ofer & dAdeg HA foreatariRad
H A PdleT AT FHaT AT &:
a) URAURT bl hUell A eIehl bl 3idisa fopaT Sirdar 2 |
b) 3ifercarer ST BIa A ufgen3a wATS A BT AT B
¢) SIUIERhI Bl SIS F hal 3T 2|
d) 3TTercATeT Sl h2ell, TSN bl =VUNT el oIAT & & |
16. | A company forfeited 2,000 shares of X 10 each (which were issued at par) held by Mr
John for non-payment of allotment money of X 4 per share. The called-up value per
share was X 9. On forfeiture, the amount debited to Share Capital will be
a) ¥10,000
b) X 8,000
c) %2,000
d) 18,000
Uk Huel o ot Gilad gRI aiRd ». 10/- Ud®h (JHAAST U
SIISY) @& 2000 9=, J/. 4/— Uld AT B 3desl AT BT
HOTATel o BIA bl TAS] H oled P2 AU U6 =R & oy
TIoNS 318 hiAd . 9/— 2l | Sledl & die Piuead =T B oA
STcil TS AT9T =T BIofl ?
a) . 10,000/—
b) 3. 8,000/—
c) 3. 2,000/—
d) . 18,000/—
17. | Gain Ratio is the ratio in which

a) Old Partners’ gain on the admission of a new Partner

b) The goodwill of the new Partner on admission is credited to old Partners
c) Continuing Partners' benefit on the retirement or death of a Partner

d) None of the above

ST 3gUTd 9 37eurd & Toradi—
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a) S0 HPNER & 3 A YR HPNERI B a1 aidr & |

b) ST HAWPNER 3Me U, &0 HPNER & IIsfdad griet
ATofleRl ®Br wfsec & Sl 21

c) HATNGR oI AdTeldiad AT Hg U HONGRI B HeAldb Bl
SI<l 2&elT |

d) Sudaa & A wIg &l

18. | Revenue does not include —
a) Unrealised Gains resulting from the holding of Non-Current Assets, e.g.
appreciation in value of Fixed Assets.
b) Unrealised holding gains resulting from the change in value of Current Assets.
c) Realised Gains resulting from the disposal of Non-Current Assets, e.g. Gain
on Sale of Plant & Machinery.
d) All of the above.
AGRT H oo oNfHeT <T&f &rar|
a) IR-dTel, uRFufa & afRa =gt A & gt 3TuTe STe
oY Rer uRFufa a5t astea o Fa@idasr |
b) arey uRdufa & FHHa HA deaa@ A B G 3T
EgTI0T ITH |
c) MX—aATeg, IMRaAl & by JF urd e oY wiie AT
FLMeSr & fapar A g3 e |
d) 3ugary Haft |
19. | X and Y commenced business in partnership on 157 January, 2024. No partnership

agreement was made either oral or written. They contributed Rs. 8,00,000 and Rs.
10,00,000 respectively as capital. In addition, X also advanced Rs. 2,00,000 on 1st
July, 2024. X met with an accident on 1 April 2024 and could not attend to the
partnership business upto 30 June 2024. The profits for the year ended on 31
December 2024 amounted to Rs. 5,24,600. Disputes having been arisen between them
for sharing the profits.

X claims: (i) He should be given interest at 10% p.a. on capital and loan (ii) Profit
should be distributed in proportion of capital.

Y claims: (i) Net profit should be shared equally. (ii) He should be allowed
remuneration of Rs. 1,000 p.m. during the period of X’s illness. (iii) Interest on
capital and loan should be given @ 6% p.a.

You are required to settle the dispute between them and distribute the profits
according to law.
(1)  Neither X nor Y will be allowed interest on capital
(1)) 6% interest is allowed to both X and Y
(111)  Profits and Losses shall be shared equally between X and Y
(iv)  No remuneration shall be allowed to Y
Since there is no written or oral partnership agreement, which of the above mentioned
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rules are appliable as per Indian Partnership Act, 1932 in the given scenario.

a) (ii) and (iii)

b) (i), (iii) and (iv)
c) (i1) and (iv)

d) None of the above

X g Y o 1 Oledsl 2024 I AONS H T TgATT bt
gHIATd Bl faRea =m ARFed die J Ppis o Aefilert
AASar <@l foham o=am1 3@ AT . 8,00,000/— O
. 1000000/—E|—ﬁu§rﬂ65r2ﬂ31a?r1—21—m1|321€%3ﬁﬁaﬁ X
El Sl 2024 I H». 2,00,000/— 3T forder fHui 1
3@?{2024a?rX§€faaWEﬁamTﬁen 30 GfeT 2024 d®
MR el 23 Ur=ar| 31 A9 2024 Bl JAATT do P 3id
H HATHI J. 5,24,600/— FITI| cITH P dedle bl cib 3eIdb
AT fereer fdare gam:—

X o grmar ar 6 - () 3JBr st der &l u? 10% dartias abr
T A ToT THSTST aifgu (i) e w1 dearTr oons Iorg gt &
3rguIfcaes grer aniau |

Y o gm@ar e 6 - ()@t atel bl aRIae dfel SifelT anav (i)
X & @A & SR 3A H. 1,000/— HAMHAPb b @A A
Agardrent fHerem @nfEw | (i) ot dem efler Uz =TT 6% arfities ot
T A At anfaw |

3MUeh! 3a9d g BT [Gde Fasmal & doIl Biefell HU A HAdT

TP A AT Pl diear 2|

Q) Xdem Y drel & & goit ur &=&Ief oét fHeTen anfau |

(ii) X damyY @l & o 6% afties @@ I =Tor @)
3T 2

(iii) AW dAT gBATA Qs H AATE HU A dic ’E Sar
Euryell

(iv) Y ®BI Ppig AgeIdral gl &ar Sier anfau |

dfs g fiRaa =1 AR amefiert Faghar gt 8, 3o

uRtedr H, oRd  aehert  sifgfemdA, 1932 B IFAR

SRfad H F Brar AT Formre o, Eom—

a) (il) T (iii)

b) (1) (iii)) T (iv)

c) (i)d (iv)

d) Sufa 3 & WIS o =

20.

A, B and C are partners in a firm sharing profits and losses in the ratio of 2:3:5. Their
fixed capitals were Rs. 15,00,000, Rs. 30,00,000 and Rs. 60,00,000 respectively. For
the year 2024, interest on capital was credited to them @ 12% instead of 10%. Pass
the necessary adjustment entry.
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a) C’s Capital a/c Dr. 15000
To, A’s Capital a/c 12,000

To, B’s Capital a/c 3,000

b) A’s Capital a/c Dr 12,000
B’s Capital a/c Dr 3,000

To, C’s Capital a/c 15,000

c¢) Profit and loss appropriation a/c Dr 10,50,000
To, A’s Capital a/c  1,50,000
To, B’s Capital a/c  3,00,000
To, C’s Capital a/c  6,00,000

d) Profit and loss appropriation a/c Dr 12,60,000
To, A’s Capital a/c  1,80,000
To, B’s Capital a/c  3,60,000
To, C’s Capital a/c  7,20,000

A, Bd CUxh B H HAreierRr &, fSiad o7 g sifer 2:3:5 &
aguiad # Jaferid drar @1 3t Rer giol ohaen:
. 15,00,000/— 3. 30,00,000/— &l ». 60,00,000/— &I
ad 2024 B AT 10% @B SO Iah Yol Uz 12% BT T A
=Tol Bisc [FAT 9=aT | 3MaeTes JAATRNGIE Udte adid —

a) CB Yol JMd A H. 15,000/— sfAe|
A & 4ol JTd BF FH. 12,000/—

B & 4Gt IMd &I H. 3,000/—

qoh Jd A H. 12,000/— sfael
JMAd A . 3,000/- SRS

IMd Bl 3». 15,000/—

fafer=Neid 3Mad A . 10,50,000/— SRS
SMd bl 3». 1,50,000/—

I bl . 3,00,000/—
FTd &bl ». 6,00,000/—
fafer=ieer =ma ¥ . 12,60,000/— sfEe|
G5 ZMd bl ». 1,80,000/—
® Yoit JTd B H. 3,60,000/—
& Yol JMd B . 7,20,000/—

b)

O w

B
Eo]
>

2 555

34

H—

B

5

O w >

E2)
2]
aT—

2 5%

34

d)

Fl

O w >

21.

A & B are partners sharing profits and losses in the ratio 5:3. On admission, C brings
Rs. 70,000 cash and Rs. 48,000 against goodwill. New profit sharing ratio between A,
B and C are 7:5:4. Find the sacrificing ratio of A:B.

a) 5:3
b) 3:1
c) 7:5
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d) 1:1

A3 B PG & 3R 5:3 & IFUrd H oIH 3T &lfel AT
HId &1 Jaad, C s U d& H». 70,000/~ b 3R
. 48,000/— IysfaeT @@t &1 A, B3R C & g o= oA
AT Pl BN FUTA 7:5:4 &1 AB & T IFUTd BT gdr
BITSIT |

a) 5:3

b) 3:1

c) 7:5

d) 1:1

22. | J, V and B start a travel agency. J contributes Rs. 9100/- while V and B invest Rs.

6825/- and Rs. 8190/- respectively. If J, V and B invest for 3 months, 2 months and 5
months respectively. How much will V get out of total profit of Rs. 4158/-?

a) Rs. 693/-

b) Rs.1036/-

c) Rs.986/-

d) Rs.1247/-
J, V3R BUS ¢adaT TolRAl H dH3d &1 ] H. 9,100/~ T
3igleTel adrT & S|l V. 3R B HHAA JH. 6,825/~ 3T
. 8,190/—1 AR ],V 3T B HHAA 3 A, 2 HAE 3R 5 A
& T forder ®wa 81 V @B ®/A AH JH. 4,158/~ H A
paer Tt Elorm ?

a) . 693/—

b) 3. 1,036/

c) 3. 986/—

d . 1,247/-

23. | XYZ company shares’ face value is Rs. 10, book value is Rs. 20, Right issue price is

Rs. 30 and Market price is Rs. 40, during the right issue the securities premium will
be credited with

a) Rs. 10
b) Rs. 20
¢) Rs.30
d) Rs. 40

XYZ ®uslt & =Ri &1 3ifha Few H. 10/~ TE FHAT
. 20/-, 3FBPR -ux foefda JgeT H. 30/~ 3R AOR FHeT
. 40/~ 21 3iftrpr-usr feofa & Sxrer ufdeifar M. ... B
AT STAT YT |

a) . 10/-
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b) . 20/—

c) . 30/—
d) . 40/-
24. | What is provision in accounting term as ?
a) A provision is a liability of an uncertain timing or amount
b) A provision is possible obligation of uncertain timing
c) A provision is possible obligation of uncertain amount
d) A provision is a credit balance set up to offset a contingent asset so that the
effect on the statement of financial statement is Nil
SIET olsaTdcdl A “Uiideial’ =T & ?
a) ‘Ulidolel’ Tah Ifeidad JHAT AT &eAfdT bF 2=0aTr B |
b) ‘Midser v 3ifefdaa AFT B AT arerar 2 |
¢) ‘Uifcrsiel’ T 3iferfdaa ere=ifdr &6t JsTer aredr & |
d) Mieerer v JFafda anRa @ efagfd & e zenfua
ST 9w @ o 5 fach faawor &1 Sar-faazor uz
gaTa Q[T & |
25. | Which of the following contingent liabilities is most likely to be converted into an
actual liability?
a) A pending lawsuit where the company has strong evidence to win
b) A guarantee given to a supplier, but no defaults have occurred
c) Bills discounted with a bank, where the debtor has become insolvent
d) A disputed tax liability under appeal with weak grounds for the company
fereattaRaa A I e A JAYT g, JFsaa: arafdes agar
# uRafda &eft 2
a) Uk diad dre, Sr9d @wuel & Silde & o gsar dAgd
&l
b) TH TSI DI & g IS, cifched Dhig Ib died oIal
gs |
) Th b B AT dTcer fhu s forar o1&f Saerr fearferem
& gabT Bl
d) pusll & AT U HBHAGNT 3IMMeNMT B AT WA b 37efieT
U fdaesae &2 Iadr|
26. | A company’s Trial Balance shows:

e Debtors: 21,20,000
e Provision for Doubtful Debts (Old): X5,000
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e New Provision for Doubtful Debts required: 5% of Debtors

What will be the adjustment entry and impact on Profit & Loss Account?

a) 1,000 decrease in profit
b) 1,000 increase in profit
c) 35,000 decrease in profit
d) 6,000 decrease in profit

U HUel bl AW gteror fe=arar a:
-éaaﬁzs 1,20,000/—
WWW}%%@WWE 5,000/—
SRUT & TI@ 379k <T=T UTdeElNsT: aoelst &bl 5%
wwsﬁ?aﬁraﬁﬁmuﬁﬁzsﬁ?mumw
YT ?

a) ST H /. 1,000/— Bl BT |
b) &7 H . 1,000/~ @t g |
c) oMY H /. 5,000/— Bl BT |
d) SITeT A . 6,000/~ &I BHT|

27. | A company issued 20,000 equity shares of 10 each at a discount of X1 per share. A
shareholder failed to pay the allotment money of %4 per share and the final call of I3
per share. His 500 shares were forfeited. What is the amount transferred to the
Forfeited Shares Account?

a) 33,500

b) 32,500

c) 35,000

d) 4,000
Uk PUel of . 10 B 20000 T R H. 1 Ufd =R
B Be UT I fPU | Th 9ERERe H. 4 uld R 3fided e
3T H. 3 Ufd =T 3ifdd HioT BT HoTldlel Bel H [Aawhar @&
3AP 500 AT Glsd Bl JIU | Slad AU JTd H [pclell ere=isn
Al ST |

a) . 3,500/—

b) . 2,500/—

c) 3. 5,000/—

d) . 4,000/-

28. | The following adjustments are to be made for preparing Final Accounts:

e OQOutstanding Wages: 310,000
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e Prepaid Rent: 35,000
e Depreciation on Machinery @ 10% (Machinery Value 32,00,000)
o Bad Debts to be written off: 37,000

What is the total impact of these adjustments on Net Profit?

a) Decrease by 337,000
b) Decrease by 332,000
c) Increase by 5,000
d) No Effect

3ifardA = AR wRa FAT FreafaRaa FameEe e o= 2:
o IPHRT HGIGI : F. 10,000/—
e TUs fBIrm : . 5,000/-
o FMAIN WX FgIarA 10% B T A (@Aefiesr &7 HdAa
3. 2,00,000/-)
e TFcC JTA SIcTal &g 3TeMeT 3RUT : Z». 7,000/

Sl AATAIGIE] bl, qeg oITd UT Kol YT =T & 2

a) 3. 37,000/~ BT BAT |
b) 3. 32,000/~ T BATI
c) 3. 5,000/~ I WAL
d) ®BIE uaTa =&l |

29.

Which of the following statements is TRUE regarding Final Accounts?

a) Final Accounts include only the Profit & Loss Account

b) Final Accounts are prepared only by companies

c) Adjustments such as prepaid expenses and outstanding liabilities are made in
Final Accounts

d) Final Accounts do not consider depreciation on fixed assets

3TaE =T B T H ToreafeRaa F A Bia AT BT AT & ?

a) 3ifqdA AT A Baar 187 3T Bifer zar onfdeT B

b) 3ifad ST BasT wufer=l gRT AU eam Sar 2

c) ius (Ud Td) =T 3R IHRIT STAT oA AHATIGE  3ifaa
o= A feu oa 2

d) sifad =T A Rer snRawl oz fkar =@t e srar

30.

Which of the following is an example of an accounting error that affects the
agreement of the Trial Balance?

a) A purchase of machinery recorded in the Purchases Account instead of the
Machinery Account
b) A cash sale of 35,000 omitted from the books
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¢) Goods worth 10,000 purchased but recorded as 31,000
d) Both debit and credit aspects of a transaction recorded on the wrong side

forgatfeiRaa & I Ha H == I &1 Th 3erEor & o B
AW Uderur B THera B yHIad HIar & ?

a) b HAMI BT hpa [ AN Fmad B aoi=r T HTd
H oot par or=m a8l

b) 3. 5,000/~ B =be Bl BT &7 A NUel & 91T &8l |

¢) 3. 10,000/~ BT HATA A fHAT 9r=—T U¥g H». 1,000/-
P HI H <ol fhAT =T |

d) fpAt Selear & Bfse 3R ke uel ot 30T € & 91w
& |

31.

Which of the following is NOT a prior period item?

a) Rent expense for the previous year recorded in the current year due to
omission

b) A depreciation error in the previous year corrected in the current year

c) Change in depreciation method from Straight Line to WDV

d) Salary expenses of the previous year recorded in the current year due to an
accounting mistake

RreetaiRaa & A B J1 Rpey yd-wifeies sAe o1&t 2 2

a) gd au b1 fP=m =E S Ay & PRUT dicl, 9§ H ol
TSI oTeT |
b) 9Td a¥ P IJcTETA b Sl dAeL a4 H JETA IS |
¢) FcTETA ddes b Aleft a1 A WDV H uRade |
d) =T g & PBRUT 9d d¥ & ddel Jd Pl dlel a8 H
BT |

32.

The auditors of a company suspect fraudulent accounting practices. Which red flag is
NOT a common sign of fraud?

a) A sudden jump in net profits without explanation
b) Consistent cash flow and revenue trends

c) Frequent changes in accounting policies

d) Unusually low provision for bad debts

U PUel P 3illscT DI HUell H HH HUSYOl oiBT SNdTdaier=
BT 32T BIAT &1 Hlel AT IS TSIol, bUc Bl ATHTST Abd oIal
27

a) el SI== & g HATH H 3@l 38T 376 |
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b) feRaz el uars 3NR Isa ughd |
¢) o= ofifa=ii H crorndre uf¥ade |
d) 37eNeT ROUT BT ITATATT HU A ford= UTaerme |

33.

If a company declares a dividend but does not pay it within the prescribed time, it
becomes

a) Contingent liability
b) Capital Reserve
c) Capital liability
d) Current liability

ufe U HBUSt STHier &I HUUT el & Udg 98 ferad JHAT
F TABT oraTel FET BRA B, T TE e el ST 8-
a) 3BRHAB <IdT |
b) doit 3Tl |
¢) Goll <=dT |
d) dTel, <dT |

34.

Which of the following should be not be classified as an "Extraordinary Item" in a
company's financial statements?

a) Foreign exchange loss on trade transactions

b) Loss due to fire in the factory

c) Write-downs of assets due to obsolescence

d) Lossos from completely writing off intangibles, such as goodwill or trademark

TUh HUst B O Tazon #A feeafalRaa & JF bl AJA1 Uah
“ITATEMOT #AL’ P HI H doficpd ThaT SATelT AT ?

a) IR ciel—aa Uz fageht fafere=r =mer
b) B H 30T B BIRIT AT |

35.

What is not a Permanent difference as per AS 22

a) Depreciation allowed as per WDV method for computing taxable income and
as per SLM method for computing accounting income.

b) Expenses debited in profit and loss statement, but disallowed as per Income
Tax Act 1961, while computing taxable income

c) Donation paid in cash

d) Charging depreciation using different rates as per Companies Act 2013 and
Income Tax Act 1961

AS-22 B IFAR, o1 TN 3idz &l B ?
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a) T AT 3T bl 90T b @ WDV dsicd A 30T o==r
3T B I0eT & fou SLM adld A Federa Tdipid |

b) emH—&lfeT faazor ¥ =d dgerer u3g 3w 3ifeferad,
1961 ® d&d BT AT 3T &I IVET HBd ddd  ATHGR
P2 |

¢) Shel B HU H &= or=m der

d) puell 3ffefer=ar, 2013 30T 3MABT 3ifeferTA 1961 B

FAR e T A FoIarA aIjeir |

36. | Which of the following is (are) not a type of consolidation adjustment?
1) Elimination of intercompany transactions
2) Adjustments for differences in Accounting Policies.
3) Adjustment to the underlying financial assets
Choose the correct option:-
a) Only 1
b) Only 3
c) Only2
d 1&2
reafaRaa F 3 Ba—A1/A AABa AATDIG 8l 8/&-
1) 3idz—puell clel—cel bl faaiae |
2) =T SNifa=i i 3idT BT FAATAIGI |
3) TR O uRsufcasi &1 FdAT=Gie
JAEr Tapea gei:—
a) BAeT 1
b) Pas 3
c) ddA 2
d 1 3= 2
37. | A company forfeited 1,000 shares issued at X10 each for non-payment of the final call

of 2. If these shares are reissued at I8 per share, the discount is adjusted from:

a) General Reserve

b) Share Capital Account

c) Securities Premium Reserve
d) Share Forfeiture Account

U PHU H.2 B 3iTdH BIad Bl JaTdlel of Bl UT FJ. 10
U&e B BIT F SR 1000 SRR S B oddl a1 I &
T H. 8 Ul R B Faw F yge: TR Bl & ar RBxmise

.............. A FAARNTST Som:
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a) ATHATT RPord |

b) =IR Yoil o= |

¢) RreEniEer difsrar Rerd |
d) oI Siadl o= |

What is the rationale for amortizing pre-incorporation expenses?

a) To match expenses with revenues over time

b) To show profit during the first year of operation.
c) To inflate the value of assets on the balance sheet
d) To avoid recording any expenses

gd- ferorerer =af & uReftasr &1 = siifrer 2 2

a) T PN AAAGAR Usid A fHeara |

b) JdTeTel B UAH d¥ B QI cATeT gorielT |

¢) goTal—-ud Uz URIAUfcasll & o Pt dleg eriar|
d) Bt oft upT & =d & 3ifeTcRasT A a=eT|

What is are the purpose of disclosing project expenses in the financial statements?

a) To show the expense as a separate item on the balance sheet

b) Disclosures related to project expenses can help users assess the risks
associated with projects.

c) Disclosing project expenses helps users understand the financial performance
of specific projects and their impact on the overall financials.

d) Both (b) and (c)

= frazont & Wioiee At & gorfa @1 a=m 3291 & 2

a) goTel-Usl U Jd hl U 37ciol AG B HU H Golfer |

b) UISlae Il A JAdierd Udbesl, Ulolde A JAdierd  SiRdaal
B Udbcd H ASIB & Abd & |

¢) Uolde Id A JAAEd Udbes UAGAr3il &r et fadw
Wolged & i ueelar 3R 3awr Jegel i v uama
Pl THASSA H FHeg Bl B |

d) (b) 302 (c) arell

When an entity is jointly and severally responsible for an obligation, what shall be the
treatment of part of the obligation that is expected to be met by the other party?

1) Itis a contingent liability.

2) To be recorded in the financial statements unless the possibility of outflow of
resources is very remote.

3) Need not be recorded in the financial statement.
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Choose the correct option:-
a) Only 1
b) Only 2 & 3
c) Only1 &2
d) Only 3

ST Uh Ul AJgad HT A 3R -39l HU H, TP IR
P U AR & a <iRica & 39 @33 b1 fors»uur o=m &
Sl 37T Ugl bl THolal obF JAHTTET & ?

1) T& Uk 3MMp*Ab AT & |

2) =3 e fazor & R fpar oirenm anfgv o9 a6 6
TATerl B AfgeldHe @t HAHTaeT gadl o v

3) fach= fa=or & Rprd st B maeTadr =8t |

FTEr frsea gei:—
a) ddT 1
b) dasT 2 3T 3
c) dBaA 1 3T 2
d) daeT 3

41.

Which of the following statement is false-

a) Hire purchase price = Cash price+ Total interest

b) Difference between Hire Purchase price and cash price of the asset is
known as total interest.

c) Under hire purchase system the buyer can pledge the goods but can not sell

d) The Hirer/Vendee has a right to terminate the agreement at any time before
the property passes to him.

fereatieaRaa & A Prad AT by alcid o—

a) 3TAh BIAT = olha PIAT + BT =TS |

b) 3MRA & 3MaHT BIAG 3R b BAT H IdT HI FaT
TSl PHaT Sidal & |

c) 3TAhT Ugld &b 3idoid hal ATATA bl PRI 3\ Adkdr
e uig e @t &= Awar 2

d) AEER/FRIGR &I JAud 3ADB UrA ol A gd feit off
TAT BAT AHATT B bl TEBR B |

42.

On the balance sheet of a company, the value of the asset bought through hire
purchase will appear as:

a) Cost less depreciation to date less balance in hire vendor’s account
b) Cost less amounts owing on hire purchase

c) Cost less depreciation to date less amount on hire purchase

d) Cost less depreciation to date.
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HUl B Jolol-UA, 37dhd B HATSTH A JG! g 3MRA Bl
ST e ® JHI H Ube O

a) oETd A A 3A AT db b1 adcasr a AHA1eT faebar &
JMAd A A AW Bl HeBR |

b) SAOTd # A 3(AhA UT T ITd bl HCIBR |

c) dETd H A 3A [y db bl 3TadcTsl I 3Tachd AT bl
HeIh |

d) orertad A A 3F s a6 & 37adcaa hl ger®b: |

43.

Ramji sends out goods costing Rs. 2,00,000 to Shyamji. 3/5" of the goods were sold
by consignee for Rs. 1,40,000. Commission is 2% on sales +20% of goods sold
exceeding cost price. The amount of commission will be:

a) Rs. 5,667
b) Rs. 5,600
c) Rs. 6,000
d) Rs. 6,800

IH Sif, eITH Sif H/. 2,00,000/— B A BT ATATE Holdl & |
ATHATT BT 3/5 HOT WAT RT H. 1,40,000/— H &OhA
BT oTAT | HBHIREA-TAhT BT 2% dAT Told Hed A 38d BT
20% 1 L @t AT =T Feft ?

a) 3. 5,667/
b) 3. 5,600/—
c) . 6,000/—
d) %. 6,800/—

44.

P sold goods to Q on consignment. Q sold the goods to R. R sold the goods to S. Who
is the debtor in the books of P?

a) Q
b) R
c) S
d) allofQ,R & S.

Py UWUT UT QabI ATHTS T 2T Q of R @bl 3T R o S oY
AT P B AHT & H AeiclR Hled & ?

~ O

a)
b)
c) S

d) Q, R 3T S Halt

45.

A sent goods costing Rs. 2,00,000 to his consignee B, to be sold at 20% above cost. B
sold goods of Invoice value of Rs. 1,20,000 on credit and Rs. 30,000 in cash. Goods

Page 22 of 47




costing Rs. 12,000 were destroyed in Fire. B is entitled to Commission of 10% + 2%
Del credere commission on sale. What would be commission payable to B ?

a) Rs. 18,000
b) Rs. 3,600
¢) Rs. 24,000
d) Rs. 12,000

A & 3O WA @I . 2,00,000/— Bl ARG DBl ATHTSA
Hom 2T oA oera I 20% 31ereh Uz =T ST 211 B ool
T . 1,20,000/— bl HATHET IR UT JIdr & 3N
*». 30,000/~ BT ATHATA &b | H. 12,000/~ b AR bl
ATHTST 30T H s aF ATl B, 10% b bl o fapa u=r 2%
UITIPh hHIE Bl SPhal &1 B bl ST haAIS =T Elom ?

a) 3. 18,000/—
b) . 3,600/-
c) 3. 24,000/—
d) =». 12,000/

46. | Goods sent out on consignment Rs. 7,60,000. Opening consignment stock Rs. 48,000.
Cash sales Rs. 7,50,000. Consignor’s expenses Rs. 30,000. Consignee’s expenses Rs.
22,000. Commission Rs. 20,000. Closing consignment stock Rs. 2,70,000/-. The
profit on consignment is:

a) Rs. 1,50,000

b) Rs. 1,40,000

c) Rs. 92,000

d) None of the above.
TIWYT U2 H/. 7,60,000/— HBI ATHATS HGT AT 3MRI¥HFB UWoT
XIH F. 48,000/— & e b H. 7,50,000/—- &1 UuB
HT IET H». 30,000/- &1 TAWAl B JF J. 22,000/-
YT w1 welET > 20,000/~ B Jd UNUT Kb
. 2,70,000/— &1 UWUT U &I B:

a) . 1,50,000/—

b) . 1,40,000/—

c) 3. 92,000/—

d) 3ugaa & JF PHIg FTEl

47. | R sends out 50 boxes to S of Delhi costing Rs. 200 per box. Consignor’s expenses Rs.

2,000. Consignee’s expenses on selling Rs. 1,500.  3/5" of the goods sold by
consignee, %2 of the balance goods were lost in consignee’s godown due to fire. The
value of abnormal loss will be:
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a) Rs. 2,700
b) Rs. 2,400
c) Rs. 4,200
d) None of the above.

R,@ceit @& S @B . 200/~ uld S=ar &6t oPrdG @& 50 B
AGTAT 21 UNh bl JMal ». 2,000/— &1 fOeha uz Wiy obr
FEl . 1,500/— &1 UANAr Srel, ERT ATHE 3/5 HToT fdeper
P oraT, W HATHTA br 1/2 AT WNAT & onerer A 3191
& BRUT ot B ITAT | STUATHTST Blfel Pl oA &AT BT ?

a) 3. 2,700/—
b) . 2,400/-
c) . 4,200/-

d) 3Sudaa & A HIg &

48. | A of Mumbai sold goods to B of Delhi. The goods are to be sold @125% of cost
which is invoice price. Commission payable is 10% on sales at invoice price and 25%
of any surplus realized above invoice price. 10% of the goods sent out on
consignment, invoice value of which is Rs. 12,500 were destroyed. 75% of the total
consignment is sold by B at Rs. 1,00,000. What will be the amount of commission
payable to B?

a) Rs. 10,937.50

b) Rs. 10,000

c) Rs. 9,000

d) Rs. 9,700
HITS B A o ool & B &bl ATHATA AT ATHTSA bl SAoId b
125% I T UT JAT ST & Siifs dloies AT & | dlolds Hed
R s &1 10% 3R et 9ca A HUT aJgell org e
AT BT 25% WHelered ST & | UNUT U @ AN SR 10%
JATATS TSTABT dioles HeT FH. 12,500/— &, ote & AT aT|
B &RT ®@eT UWYT &I 75% H.1,00,000/— H AT =TI BdHT ST
paleTea B AT = Breft ?

a) 3. 10,937.50/—

b) . 10,000/—

c) . 9,000/—

d . 9,700/—

49. | Bharti consigned to Bhawna 1500 kg of flour costing Rs. 4,500. She spent Rs. 307 as

forwarding charges. 5% of the consignment was lost in weighing and handling.
Bhawna sold 1350 kg of flour at Rs. 4 per kg. Her selling expenses being Rs 550 and
commission at 12 %5 % on sales. Valuation of closing stock will be-
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a) Rs.253
b) Rs. 250
c) Rs. 350
d) Rs.275

HIAT o H. 4,500/— BT /. 1500KG 3MTer HATdalr bl At
BT | 3FS 3T geeh & HT A H. 307/— Jd fHU I guor
BT 5% Jolot I IJT B SRIE oIS & o= | ATdell of H». 4 ufd
fhAameA <BF @I A 1350 Thollamea 3Mal AT 3IADBT faeba
Tl 3. 550/— & AT fapa uT 1210% ohailera | 37 i bl
ST AT BT |

a) /. 253/—
b) . 250/—
c) :». 350/—
d . 275/-

50. | The unsold stock on consignment is valued at-
a) Original cost of the goods
b) Original cost plus non-recurring (direct) expenses incurred by both consignor
and consignee
c) Original cost plus non-recurring (direct) expenses incurred only by the
consignor
d) Original cost plus all expenses
UyoT R foer IS gU i BT FHedidhe
a) ATHATSA DI HeT ATord
b) T oTord e, Uudk 3R WA, T wd Bu ow
3reTadt (UcTer) =T |
c) FST TIOld Tl Hadd UNHG GRI Id BT o= 37aradt
(Ucrel) =T |
d) JIcT oord g A == |
51. | A, B and C are partners in a joint venture. A gives one-third of the capital, while B

gives as much as A and C together invested. If the profit at the end of the year is Rs.
900, how much will C get as dividend-

a) Rs. 300
b) Rs. 100
c) Rs.200
d) Rs. 150

AB3R C Uh Je3agd H JARER 21 Ad Uoit &1 Uh fass
oo & oidice A 3T C o T foraar feraer foeam 2-B o
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3delT ooNT &1 Ii¢ a9 & 3id H . 900/— bl ol &dl &
dar C bl craHierT &b 39 A fbdar FHcom —

300/—
100/—
200/—
150/—

a)
b)
©)
d)

8444

52.

Mohan Singh in joint venture with Sohan Singh, purchase goods costing Rs. 2,00,000.
Sohan Singh sold most of the goods for Rs. 2,80,000. Unsold material costing Rs.
10,000 was taken over by Mohan Singh at Rs. 8,000. Mohan Singh is entitled to get
1% commission on purchases. Sohan Singh is entitled to get 2% commission on sales.
Profit on venture will be:

a) Rs. 80,000
b) Rs. 80,800
c) Rs. 81,200
d) Rs. 80,400

HAead Rig 8 Aled RHg & JAT JAS3TH H 3. 2,00,000/—
Pr  AOId BT AT WEET|I  Aled  Hie o 3ifEremier  HTeT
. 2,80,000/— & I f&=ATI . 10,000/~ B AR dTAT Sl
HATA <&t foepr 3 dAlea Bie 9 . 8,000/~ A o foram |
HAesad Rz I&8e B 1% BHIE B abeld bl &1 Aladd T¥He
Ieh=T & 2% BT BN Bl BBl & | IeTH Dbl Ars] 1o |

a) . 80,000/—
b) . 80,800/—
c) . 81,200/—
d . 80,400/-

53.

Jai and Veeru enter into a joint venture for purchase and sale of old Printers. Jai
purchased Printers costing Rs. 100000. Veeru incurred Repairing expenses Rs. 10000
and service expenses Rs. 10000. Veeru sold it at 20% margin on selling price. The
sales value will be:

a) Rs. 1,25,000/-
b) Rs. 1,50,000/-
¢) Rs. 1,00,000/-
d) Rs. 1,40,000/-

S 3R d» gRe el @t IREie 3R foest & dJEsad A
oAt 8ld 31 ST & . 1,00,000/— Bl crord b el bt
ITEET PHrIl dd o . 10,000/— FHIFHAT =9 deIl
. 10,000/ JAAT Id THATI d» of ThT g a2 20% &
3IUid U S dF eI
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repa e I BIom:

a) . 1,25,000/—

b) . 1,50,000/—
c) . 1,00,000/—
d) . 1,40,000/—

54. | Sita and Geeta entered into a joint venture to purchase and sell Diwali gifts. They
agreed to share the profit and losses equally. Sita purchased goods worth Rs. 1,00,000
and spent Rs. 10,000 in sending the goods to Geeta. She also paid Rs. 5,000 for
insurance. Geeta spent Rs. 10,000 as selling expenses and sold goods for Rs.
2,00,000. Remaining goods were taken over by her at Rs. 5,000. Find out profit on
venture.

a) Rs. 70,000

b) Rs. 75,000

¢) Rs. 80,000

d) Rs. 85,000
Har 3T offar 3 Rarel & IusRl & JHe 3T IFBt b1 Th
Fe3THA U [hATI IsBId o7 derm &lfel bl SRIER diced &bl
FAAGAT TBaT AT F FH. 1,00,000/— B FAT BT AT Il
3T 3A HATA b afdar dep fdetara & . 10,000/~ I B |
3T H. 5,000/~ AT B AT off Ru | offar & s z=f =&
fT . 10,000/~ &&F AU 3R HATET BT H. 2,00,000/— H
Jg f’amI @9 g AT B A FJB. 5,000/ H U JRIE
ToT=IT 3T # a7 BT UdaT clonu |

a) . 70,000/—

b) . 75,000/-

c) . 80,000/—

d . 85,000/—

55. | Which of the following statement is true:

a) In case of separate sets of books method of joint venture, co-venture’s
contribution of goods is debited in joint Bank A/c

b) Co-venture’s contribution in cash is debited to venture’s personal account

¢) Discount on discounting of Bill Receivable is debited to venture’s personal
account

d) Contract money received is credited to joint Venture Account

foroeer & A B AT haaa AL 2

a) TAe3TA B 39T 39T ST ISl Yol &b ATHA A
As3TH! GRI AT P giad [pI 9w I=d i dAgaa 1 d
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A ereptera fepam wrar 2

b) ASITHT B Ahg 3iqETdd HI IFH B fofofl Faa A
aIpfeTa fepam SiTEeT |

¢) B/R & 37Med &l U dcel, IFHA B feroll Jd A
rpteTa s SITEeTT |

d) ura srgdag- AT FAeITH Ja H FTAT It STt B

56.

Which of the following is not a feature of Branch Accounts, although the same is a
feature of Departmental Accounts?

a) They may be maintained at Branch

b) They may be maintained at Head Office
c) Apportionment of common expenses

d) Double entry accounting system

forder A A dra AT TIAwdar =T F|Ma A JAdEa o8t & oiaidh,
as Taaefir sma or fagiwar 2

a)  QM=AT H Telhl I IH|TT AT ST AhdT & |
b) HSIATT H TABI TF-IJMG BAT ST FAhdT 2 |
c) HATeMIoT At b1 fJeirsiet |

d) <rsd ufafke d=ar goredt |

57.

How Branch Expenses paid by the Head Office are accounted in Branch Books
maintaining independent books of accounts?

a) Cash/Bank Account is debited and Branch Account is credited
b) Branch Account is debited and Cash/Bank Account is credited
c) Expenses account is debited and Head Office Account is credited
d) Head Office Account is debited and Expenses account is credited

HIATAT BRI A o AT B Il P HoTdlel BT cIHATHOT
QMFT T&l, Gl A= T A AHT &l bl I IW|Td bdl &, A
HA fpar Smar B9

a) She /b JTarT A f&Obfad dam  om=ar  JTar HOGTAT
fepam omar 21

b) oT=AT ITaT A fdepfaia 3N= sibe/dis FTd H SIAT|

) oI Jar A Aefcia 3R Fe™ JAr A OSTAT |

d) FMAT JMAT A THhlaid g8 3T TT FATaT H ST |

38.

M/s XYZ opened a branch at New Delhi and sent goods costing Rs 2,00,000 to Noida
branch. Noida Branch sold entire goods on credit at Rs 2,50,000. No other transaction
occurred at the branch. How the entries will be made for branch account?

a) Debit side: To Goods sent to branch Rs 2,00,000
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To Net Profit Rs 50,000
Credit side: By Debtor Rs 2,50,000

b) Debit side: To consignment account Rs 2,00,000
To Net Profit Rs 50,000
Credit side: By sale Rs 2,50,000

c) Debit side: To creditor Rs 2,00,000
To Net Profit Rs 50,000
Credit side: By debtor Rs 2,50,000

d) None of the above

XYZ A a5 f@cell & U om=m el 30T . 2,00,000/— Br
SETd HI ATA SAIUST M=AT H Hel &ATI SEsT AT of YT
AT . 2,50,000/— H oI AT om=m H PhIs 3T -
STED 3| T JTaT H SISl PBA B SEefT ?

a) frbetel el : HATST @bl . 2,00,000/— H QM=AT eIl
9T %». 50,000/~ HI Aeg oI |
3MTehciel U&T : 3RO A ». 2,50,000/— U
b) fapoTer e : H». 2,00,000/— UWOT JATAT H
. 50,000/~ BT LG cTH
3MThceael el : faehr g1 . 2,50,000/—
c) frbetel el : . 2,00,000/— Tiel&R T
. 50,000 BT Yeg ol
3ThcTel U&T : 2eiglz A . 2,50,000 U

d)  Sod A bIs Bl

59. | How the rent usually apportioned among various departments of the enterprise.
a) Based on sales ratio
b) Equally
c) Based on floor area or usage
d) Based on employee count only
BT Bl ATHTTT: IaIHA B [Afdtest fasmmen A HA fenfoa
T SiTaT & ?
a)  TIhA 3IgUrd U SATETRd |
b) RS — SRIdR |
c) T &7 & 3IuAor uT 3med |
d) had AT B JFZ=AT UT 3T |
60. | Under the Debtor System of accounting for dependent branches, which journal entry

will be passed for goods sent by the Head Office but not received by the branch till
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year end:

a) Branch Account is debited and goods in transit account is credited.

b) Goods in transit account is debited and Branch Account is credited

¢) Goods sent to Branch Account is debited and Branch Account is credited.
d) None of the above

Mg o3t & o ROl STHROT  UONell & 3ideld
HTSTT gRT ASl 9IC AT, oY i & 31ed ddb o= H Ut
& B oraT @, &g Pia AT Aserdar uidite @t SieefT ?

a) omRAT JWar A fapfera seft 3w ‘sifdrassr & AT
ST H Bise i

b) SfdTassr A AT o= A Apfara et 3T om=ar
FTAT H STHAT Bl |

c) OMT UTT AT’ bl oizT A fbiard sieft 3T o=
TATAT H STAT 1o |

d) SAHH A hIs G|

61.

Goods worth X1,00,000 (cost) were sent to the branch at 20% above cost. At the year-
end, the closing stock at branch is 336,000 (invoice price). What is the adjustment
entry for closing stock?

a) Rs 7,200/-
b) Rs. 3,600/-
¢) Rs 6,000/-
d) Rs 2,000/-

. 1,00,000/— (SA0Td) Bt BIHAT Bl HATA HA BiAT A 20%
3iferes Uz oMmT H HAGT OAT|I d¥ B i H T UT dg ISIPb
P BHAT H. 36,000/~ & (@rcT oz HiaAd) | de FTib B U0
AATRNGIeT UTdite R=IT &oft ?

a) ». 7,200/—
b) 3. 3,600/—
c) . 6,000/
d) . 2,000/-

62.

There are 2 departments A and B with following details:

Details Department A Department B

Sales Rs 1,20,000 Rs 80,000
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Cost of goods sold Rs 60,000 Rs 40,000
Indirect expenses other than rent | Rs 15,000 Rs. 12,000
Floor area 600 sq ft 400 sq ft

If total rent is Rs 10,000/-, how much will be profit of department A:

a) Rs 39,000/-
b) Rs 45,000/-
¢) Rs 40,000/-
d) Rs 60,000/-

AT Bar famer € et aRor 53 uhie 8-

fera=zor

fararmer A

feratmor B

ferept

<. 1,20,000

<. 80,000

I It aegail
G ESIRIG]

. 60,000

. 40,000

fh3r@ < 31crar
uTeT T

<. 15,000

. 12,000

TAIR BT &5l

600 Tl e

400 g9l He

afe |weT fpEm .

EIoT ?

a) . 39,000/—
b) 3. 45,000/—
c) /. 40,000/—
d) . 60,000/—

10,000 & dr fasamer ‘A° b1 ooy fobder

63.

Mohan and Sohan are partners sharing profits in the ratio 3:2. They admit Tarun as a
new partner. After his admission the profit sharing ratio becomes 5:5:3. On the date
of Tarun’s admission the goodwill of the firm is valued at X 13,00,000. The amount of
goodwill to be brought in by Tarun will be-

a) Z5,00,000
b) % 10,00,000
¢) Z3,00,000
d) 2,00,000

HI&sl d AHlgsl ITH

BT 3:2 IAFUI

#H dica el JA=@eER &1 9

dHUT Bl Uh U JASHONER b Y H Ad 21 IJAD 3IMMoTHST D
oAl T 3M&cel bl 3gUld  5:5:3 & Sffdl &1 d&Hv B
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oA Hf iy oz Huelt  HF gsfdar @ dBAd
. 13,00,000/— &1 U GRT ol 913 IPsiaT &I BtAT F=T
groft ?

a) 3. 5,00,000/—
b) 3. 10,00,000/—
c) 3. 3,00,000/-
d) 3». 2,00,000/-

64. | ABC Ltd. forfeited 2,000 shares of Rs. 20 each fully called, on which Rs.12, 000 has
been paid. Out of these 1600 shares were reissued upon payment of Rs.28,800. What
is the amount to be transferred to Capital Reserve?

a) Rs.4,800

b) Rs.6,000

c) Rs.4,600

d) Rs.6,400
ABC f(ifdies o 3%, 20 & B9 3J Qoia: 3mgfad 2000 Q=T
Sisd U foas . 12,000/— BI Hardrel THAT I=—ITI SaH A
1600 9= I . 28,800/~ H TIERT SR BT AT 91T |
Joil g & foedelt AT STefl SITEaiT |

a) 3. 4,800/—

b) 3. 6,000/—

c) 3. 4,600/

d . 6,400/—

65. | Firm X is planning to acquire Firm Y. If Firm X prefers to make a cash offer for the

merger it indicates that-

a) Firm X's managers are optimistic about the post merger value of X
b) Firm X 's managers are pessimistic about the post merger value of X
¢) Firm X's managers are neutral about the post merger value of X

d) None of the above

TPh BHA X, BH Y &I 3uifold ba uz faar & W& 21 I
BH X Resrer & fOu aibe ofordial &l UdTd IJdt & dar I8
ST B=ar & fb-

a) X BH B Uderh, o=t & ueald X bl BIAT bl AbT
3MTeraTeY &
b) X BH B Uded, [dctwel & uedarg X &l BAd Bl b
ferzremarst 21
) X BH P Udgd, f[Aaer & gearg X dl BAT Bl b
Jer=ie B
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d) Sugaa & A dis off 8T

66. | ABC Ltd has taken over XYZ Ltd. The book value of assets is Rs.100, while the
market value is Rs. 110/. The statutory rate prescribed by regulatory authority is Rs.
115/-. Under the Pooling of Interests method, at what value will these assets be
recorded in the books of ABC Ltd? Assume NIL liabilities.

a) Rs. 100

b) Rs. 110

c¢) Rs. 115

d) Average of all 3 rates
ABC faifdieces & Usp buell XYZ faifdes o1 3utsia 2 for=m 2
gReufa &t faRaa BlFa . 100 & oidie Aol BiAd
. 110/~ &1 Te=zor 3iferpror gRrT Sst denfeies BlAT .
115/~ 81 =TT & TUPHIBIUT UUMail A, A ABC fofdtes & =ma
H fPA HIHT 9T TS Ela AU ? AW LT AT |

a) 3. 100

b) . 110

c) 3. 115

d) fet g3d b1 AT

67. | A company “XYZ Ltd” is having huge accumulated losses and book values of assets
are not shown at their true value. The company decides to reorganize itself and start
afresh. Accordingly, a new company “New XYZ Ltd” is formed in order to take over
the business of “XYZ Ltd”. This is an example of-

a) Strategic Alliance

b) Spin off

¢) Internal Reconstruction

d) External Reconstruction
Uh &Uell XYZ foAfdes &f o g aifer &1 <& @ gen
gRRAufaal &Y g6l Blad Il A BlAT A Aol &1 bUsil
3TUe 3T hl gol AU B3l Pl dIl SIART s LJ3Td el
B AT T B TAD 3RO A XYZ fAfdes @ =mmurR &
3Uufsid e & fau es XYZ féfdHes’ wors odr 21 I8
3STE0T B—

a) ATARD AASNA BT |

b) 3MTBERHAB URUTH 6T |

¢) 3IMdiRds Yeiedel T |

d) ST&T Ygeleue o |

68. | At the time of dissolution of the firm if the goodwill appears in the balance sheet, it is
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to be transferred to which account-

a) Revaluation A/c
b) Capital A/c
c) Realisation A/c
d) Current A/c

& Roer & Jag I gore-uar A oefda &g 3t 2
ar, =3 o Ja A Aol SITEen—

69.

In accordance with Accounting Standard AS-7 how foreseeable loss on contract
should be recognized ?

a) Recognized immediately

b) Recognized at the end of the contract

¢) Uniformly spread over the remaining part of the contract
d) Not to be recognized with contract

SIHATPHRVT AP U.CA-7 P dad, UDb 3gad U gaigaATerd
FT UbR ATeIar I anfEu ?
a) ged HATTAT it aIfET |
b) JTHFSNT B 3id H HAIAT el AT |
¢) AAST &b II U HOT UT JAHON HT A dicer aAMaU |
d) JTHSANY B ATT T&l ATeTdr <&l fHeret anfge |

70.

As per AS-11, the process of converting foreign-subsidiary financial statements into
the home currency is known as-

a) Consolidation
b) Translation

¢) Transmission
d) Reconstruction

C.CA-11 B dsd, el Aguell i f&a=ei &1 avey Hat
F Fgerer @ ufdsam ... HEATA B -

a) Tl
b) 3TefaTe
¢) 0T

d) gefoteel
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71.

What will be the correct sequence of events?

(1) Forfeiture of shares.

(i1) Default on Calls.

(ii1) Re-issue of shares.

(iv) Amount transferred to capital reserve.

Options:
a) (1), (iv), (ib), (iii)
b) (i), (iv), (i), (iii)
c) (i), (i), (iii), (iv)
d) (i), (iv), (0 (ii)

T3l bl HEI b =T Sl ?
(i) =i @t St |
(i) HOT UT TP |
(iii)) <RI W ge: S eI Sirer |
(iv) =afsr @1 goht Rod # aidwor|

farepeu:
a) (1), (iv), (i1), (ii1)
b) (ib), (iv), (1), (iii)
¢) (ib), (1), (ii1), (iv)
d) (iii), (iv), (1), (ii)

72.

Aron and Bill are partners sharing profit or loss in the ratio 4:1. Aron surrendered
1/5" from his share and Bill surrendered 1/5th of his share in favour of new partner
Christofer. What will be the Christofer’s share?

a) 2/5
b) 1/5
c) 3/5
d) None of these

T3 derm e sifer o @t FH o4:1 B Igurd H ARDER B
ST ATHET fheaihe & uel H TS of IADB AqAT bl 1/5 df
HOT B fear gem et a9 3AP =T BT 1/5 df AT DS
&aT | feheeieT &bl == =T &lor ?

a) 2/5
b) 1/5
c) 3/5
d) SeTd A B T8t

73.

When one existing company acquires the business of two or more similar companies
it is termed as-
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a) Amalgamation

b) Absorption

c) Internal Reconstruction
d) External Reconstruction

Sl Uk fderddrer buel 3F SiAl &F ar a1 3iferes pufer=t &
SITATT BT 3T6iel Bhdl &, dl =A =T orH fer oirar 2 9

a) JAHATHcT

b) 3TH

c) 3fidRes Yeifetaior

d) aTg=r geifeiaAfor

74. | On Ist January, 2023, Y Ltd. Purchased a machinery for Rs.50,000/- and spent

Rs.3,500/- on its carriage and Rs.2,500/- on its installation. Its useful life is 10 years
and scrap value is Rs.6,000/-. Depreciation for the year under straight line method
will be:

a) Rs.4,600/-.

b) Rs.5,000/-.

c) Rs.5,600/-.

d) None of the above.
Y Ltd o f&sfies 01 Seadl, 2023 &I UTes  Afies
. 50,000/—- H JEE 3R H. 3,500/— IADBI galls gl
. 2,500/— 3IAB JTWRMUsT U I fhul sTHr Iu=nrar
rafer 10 af & gar IgE FHsT FJB. 6,000/— &1 JIA I
fafer & 3idelad ST a9 &I FHcIASTA BIO:

a) 3. 4,600/—

b) 3. 5,000/—

c) 3. 5,600/—

d) ST H A B o8l

75. | Machinery was purchased for Rs.50,000/- two years ago. The current book value of

the machinery is Rs.36,125/-. If the depreciation is charged under written down value
method, the rate of depreciation is :

a) 30%
b) 25%
c) 20%
d) 15%

TUh HAMSA hr & a¥d Uasst ». 50,000/— H JAST or=AT 2T |
Fefied &1 addel &1 9T 3. 36,125/— ol Ik sm@farsd
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ST UUNICl & 3idold JCIEIA oAl ST d FHcIarA Bl a2
Blofi:

a) 30%
b) 25%
c) 20%
d) 15%

76.

Depreciation is a process of:

a) Allocation of cost.
b) Valuation of asset.
c) Both valuation of asset and allocation of cost.
d) None of the above.

71.

A machine was purchased on 1st April 2020 for Rs.5,00,000/- and on 1*' October,
2020 a new machine is added for Rs.2,00,000/-. Calculate the balance of machine

account, if depreciation is charged at 20% p.a. on written down value method for the
year ending March 31, 2021.

a) Rs.6,00,000/-
b) Rs.5,60,000/-
¢) Rs.6,60,000/-
d) Rs.5,80,000/-

Th FefieT 01 31UA 2020 B . 5,00,000/— H Z(=Uet I8
off dgemr 01 3/@EER, 2020 B TH ofs H#AMAT FH. 2,00,000/-
H 3T IR o131 i safaRaa Ao Uvmell  gRT HAoIard
20% Ufad ad &Y €T A oA Srar &, dar fedies 31 FAE
2021 P JTATT a8 & foag FFefiag =mad H AW &b ororem
BT |

a) . 6,00,000/—
b) 3. 5,60,000/—
c) 3. 6,60,000/—
d) 3. 5,80,000/—

78.

Original cost of an asset is Rs. 1,26,000/-, Salvage value is Rs.6,000/-, Useful Life is
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6 Years. The rate of depreciation under Straight Line Method will be:

a) 15.87%
b) 16.67%
c) 15.80%
d) 16.56%

Uh uRREufa &t arafas e %, 1,26,000/- B, I U
AT BN HeT FH. 6000/~ &, IAD! IuAPTAT 3@y 6 ad 7|
TR W [y & 3idela I FouarT a2 et

a) 15.87%
b) 16.67%
¢c) 15.80%
d 16.56%

79. . : : o
Under straight line method the value of the assets at the end of its useful life is equal
to or its

a) Zero, premium value.
b) Original value, salvage value.
c) Zero, original value
d) Zero, net scrap value.
IRA BT [T & 3idefa Iu=i6drar 3@y &t FANRG U
gRAuRa=I &1 AT ... AT TAD ... H TREX BT B |
a) o[, WifdT=Tar e |
b) aRAId® A, Id U HATA BT FoH |
¢) 9T, dARdidd H |
d) °o[cT, QU Gel T
80. | Accumulated depreciation account is an example of:

a) Contra asset account.

b) Contra liability account.
c) Contra equity account.
d) Expense account.

Jfra FAowerT Jar fFABT Tk 3aTE0r B 2

a) ufa uRsAufa mar
b) Ufer 2=raT SATAT |
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c) ufa skt Fmar

d) &= JTdT |

81.

An asset was purchased for Rs. 5,00,000/- and as per WDV method, 20% deprecation
is charged each year. What is the value of assets at the end of four years?

a) Rs. 3,50,000/-
b) Rs. 2,56,000/-
¢) Rs. 2,04,800/-
d) Rs. 3,20,000/-

Ush ufRdAufd 3. 5,00,000/— H F(EEN o3 3T 3A Uz WDV
T A ufad 20% HoTEA CONAT ST &1 AR dW T
JARG gz uRFufa &1 s = e e

a) . 3,50,000/—
b) 3. 2,56,000/—
c) . 2,04,800/—
d) 3. 3,20,000/—

82.

Provision for bad debts is made under the principle of

a) Conservatism concept
b) Disclosure concept

c) Realization concept.
d) None of the above.

379MeT 3RUT bl UTderal fobA Rgid &b 3idoid o<Ir=m orar a:

a) Jdigdlal JdbedeT |
b) UBSIBIOT IHhaTelT |
BT |

¢) aeft
d) Sudaa & I wIg &l

83.

Which of the following is an exception of “Full Disclosure” Principle?

a) Materiality

b) Conservatism
¢) Going Concern
d) All of the above

TreafciRaa & 3 o J1 Abea “gol gwsdismor’ Rigia &1
3rgdare @ ?

a) aliferepdr |
b) Hfedaredr |
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c) AtAd JANBIT |
d) Sugaa aft |

84. | An entity has a deductible temporary difference of Rs 50,000. It has no taxable
temporary differences against which it can be offset. The entity is also not
anticipating any future profits. However, it can implement a tax planning strategy
which can generate profits up to Rs 60,000.The cost of implementing this tax
planning strategy is Rs 12,000. The tax rate is 30%. Compute the deferred tax asset
that should be recognised

a) Rs 14,000
b) Rs 11,400
¢) Rs 11,300
d) Rs 14,400
U SHIe bl dbaldl JeT 3Rl 3idT . 50,000/— &1 SAHA
P BT AT IR 3iaT 81 & A sTPBT sRurg &t ot
AB | Sohls AT H fhIAT cirer B off Ieeile a8l b W B
BTciith, d&8 Udh B2 ferliolel 0mEifa P, B2 Adbdr & oy
3. 60,000/~ ddbH Bl AH 3Icdesl & JAdbdl &1 A &I
foreiietel JuTelifar @I &9, Wl &I &oTd H». 12,000/— &1 B
B TT 30% &1 IA IMRAPF b2 ulAufa B oorEr b oA
HATIAT < SiTell anac |
a) /. 14,000/—
b) . 11,400/—
¢c) 3. 11,300/—
d 3. 14,400/—
85. Which type of inventory system is updated inventory system?
a) LIFO
b) Periodic inventory system
c) Contingency inventory system
d) Perpetual inventory system
A UBIR bt AT 3TeIdsl ATl Yol & ?
a) LIFO
b) smaferes HATGRIET YoTEl |
c) BMBRHADB AT UGl |
d) eTeadadr HTGIA! WOTEl |
86. | What is the principal criterion used to distinguish between tangible assets and

inventories?

a) The acquisition cost of the asset
b) The physical substance of the asset
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¢) The nature of the company’s activity, which determines the purpose for which
the asset is held
d) The moment in the accounting period when the asset is acquired

g uRJufeas 3R #Fear JgREN # AT B B U BAST
Pt Y B2

a) gf3xufa Y 3roiel PHiad |

b) aRufa @1 aAifaes smene |

¢) ®usht @t afafafsr @t ugpfa o ws rgiRa w=dr 2 &
gRaufa fopa 3gea A = o1 B

d) SISeBReT 31afer I 98 &79T oig dg& uRAufrd ol 9Ts |

87. | Which of the following method is suitable for calculating the cost of inventory when
actual costs of individual units of merchandise can be determined from the accounting
records?

a) FIFO Method

b) LIFO Method

c) Specific Identification Method

d) Average Method
ATTAT B BtAT H e wT ferestfaiRaa & I P AT
aABT S B, o Sla AT B USRS SHIs Bl dRdldd  BrAd
o1 fererizor S Red I ura feam o1 Jhar B 9

a) FIFO @3tapT |

b) LIFO G3IahT |

¢) TafsTse usdarer i |

d) 3T=Aa aehT |

88. | Which of the following factors would not be used in determining the functional

currency of the entity?

a) The currency which is the most internationally used for trading in that
industry

b) The currency in which sales from operating activities are denominated

c) The currency in which the costs of the entity are mainly denominated

d) The currency in which finance is generated

Bt Ofedt @57 gl Har & forgiRor & fou foreafaiRea & 3
BT A PIRb bl UAT T&l fhaT SITEam ?

a) 3A IJeOT b ATUR H, IdST 39T UT Adieles gdaieia
|

b) 98 HaT oA uatere oifdfaie:y ¥ Acd &1 e 3ifhda
&l
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c) g8 Hal fSHd UTRedt &t HlaAdl &1 FzId: e 3ifdbda
EIaT Bl
d) Fge1 ormad i sifera €ar &

89.

An entity, whose functional currency is the dollar, acquired 100% of the equity
capital of a foreign entity at a consideration of 19 million Euros on 30 June 2024.The
fair value of the net assets of the foreign entity at that date was 16 million Euros. The
exchange rates at 30 June 2024 and 31 December 2024 were 1.2 Euros = 1 dollar and
1.4 Euros = 1 dollar respectively. What figure for goodwill should be included in the
group financial statements for the year ended 31 December 2024 if goodwill is not
impaired?

a) $2.1 million
b) $15.8 million
¢) $0.4 million
d) $2.5 million

U Cfele foroast uafera aggr Sfaie 8, of fdaies 30 S 2024
B Tp faeeht vfedl &t 190 TaAfcaa g & ufdwser 3 100%
st doit sifsta w2 off | kel dfedt &t 331 asr &1 feraar
gRsufa @1 3R”a e 16 THAfTYE JRY em 30 T 2024
3T 31 R&a= 2024 &1 [AfedFT @3 wmaA: 1.2 PRI = 1
Slcik 3R 1.4 YA = 1 8lar At It oeider v g
&l ust & ar, Raies 31 @¥ar, 2024 & JATT a¥ B
o, gu & O Tazor &, sfda zawmu a=m AT sifea

90.

Where a foreign entity functions independently from the parent, the functional
currency of the foreign entity will be —

a) The presentation currency

b) That of the country of origin

¢) Determined using the guidance for determining the functional currency of an
entity

d) That of the main group companies

g T faeelt ORE sua @@ A 3icier &l Fadad HU A
Hrf HAT B, a1 3[BT TATAd HET F=T BIofl-

a) "xdfd HaT|
b) 3IGOTH <M I HaAT |
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¢) Tk Ul &5t udeiel HeT & forgiRor & @ &t @ofar @
URIeT hd gU fereaiiRa Hati
d) 3T PU BUeilel bl FHaT |

91.

For lessee, initial recognition of leased asset is at:

a) Residual value

b) Fair value or present value of lease payments, whichever is lower
c) Historical cost

d) Book value of lessor

Ucee? & fou, offer uz & org 3nlR3a &6 urRfis HAeTar e

R E?

a) 3TAdTe WBIAT

b) elisT oforarel @F 3G BIAT 37erar adATe dBiAA, Sir ot
BH B

¢) 3MET cTeTd

d) Ucaidmdal w1 & e

92.

In case of Amalgamation in the nature of purchase, Amalgamation adjustment
accounts is opened to record

a) General and revenue reserves of the transferor company
b) The statutory reserves of the transferor company

c) Assets of the transferor company

d) Liabilities of the transferor company

HT Bl Uhld D AATHAST b HAF H, JAATHAST AHAT=GIA
ZMAT ... gol PId B AT AT Sirdar & |

a) 3id3s BUell &I ATHATeT 3NT 3MTHSN I=farf |
b) 3ides U=t @F denferas 3m=fayf |

c) 3id3h HUst bl IRaAT

d) 3Td3ep BUsl &I 2JdaTU |

93.

On dissolution, secured creditors could only partly recover their dues out of the
amounts realised from the concerned assets. The remaining amount is treated as

a) Preferential Creditors
b) Secured Creditors
c) Unsecured Creditors
d) Non-recoverable

rgea Uz, JRI&a cleer Jdida uRIAufast 3 ura afer & A
BacT 3ifde HT A & 3Tl TBERIT P BT Abd &1 AW
afst wr L. HATAT SITaT 2 |

a) 3ferATeT e
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b) JRféTa ciEeR
c) 3TIMETd cieiaR
d) 9= agett <o

94. A company forgot to record depreciation of %5,00,000 for a machine in the previous
year. How should this be treated in the current year's financials?
a) Adjust it in the Retained Earnings Account
b) Record it as a prior period expense in the current Profit & Loss Account
c) Ignore it since depreciation is a non-cash expense
d) Show it as an extraordinary item in the Profit & Loss Account
Uh dHUell Usel ad TUh HAMeT & 6@ . 5,00,000/— BT
FCTETA ol hIal el dls| dle a9 & [aca fgazon o s
P Tol fpaAT ST ATeu ?
a) A UldenfRd 3T JTd A JATNSIT B3 |
b) A TdAT oA 3T Bfed JMad H Yd 3@T & JIJ B
HIT H Tol B3|
¢) A IMEHAT B2 FAIPB HcIASTA TP dR—oIdbe T & |
d) 33 clreT—glfel JTd H T ITATIRYT A b HU H STHT |
95. | At the time of Amalgamation, purchase consideration does not include
a) Payment made in the form of cash by the transferee company directly to the
creditors of the transferor company
b) Payments made in the form of assets by the transferee company to the
shareholders of the transferor company
c) Preference shares issued by the transferee company to the preference
shareholders of the transferor company
d) Payment made in the form of cash by the transferee company to the
shareholders of the transferor company
TAATHSST B AAT BT UfaBeT H .o oNMfHAST <&l &rar
a) 3TdR¥dl BUell ERT 3id3ds wHUel & el ol A fh=ar
ITAT eldhbg  HIldTeT |
b) 3aRdT Busll ERT 37d3cs HUel B AAIEMehl bl IMRaAT
B BT H RIT o= Horare |
¢) 3alRdl usll gRT 3id3s Pusit & IfeATT S=Renshl ol
St fopu otE STferaATe QR
d) 3iai=*dl puell gRT 3idIce DUsll & AAIEMRPDI bl TehaT
OTAT eichbg  PHIldTleT |
96. | Under Section 47(vi-a) of the Income Tax Act, 1961 in case of amalgamation of
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foreign companies, transfer of shares held in Indian company by amalgamating
foreign company to amalgamated foreign company is exempt from tax, if such
transfer does not attract tax on capital gains in the country, in which the
amalgamating company is incorporated and also at least X% of the shareholders of
the amalgamating foreign company continue to remain shareholders of the
amalgamated foreign company. X in the above statement is

a) 10%
b) 25%
c) 50%
d) 75%

3BT Ifefer=IdA, 1961 & &RT 47(vi-a) & 3ehear ool
BHUferdl B JAATAST D HAFHST H, AATATAa Taeeft bust b
faeel puel H JTATATAT P ERT HARGIT HhUcl H ered =30
Bl AU, BT A B B =2 H Bal &, Idie VAT 3Faor 3
2or A orad TFaATdAeer wuenl feorfda 2, qoit aifdrersi v &g
BT IR o8l HarT & IR FAAHcS  [eft wusht B
INITELRBT H A PH A A X% ATIERP AATAHTAd  faeoft
HUST B ATITRB I BT &1 IuPrd BT A X Bl AT &—

a) 10%
b) 25%
c) 50%
d) 75%

97.

H Ltd. agrees to take over the business of J Ltd. on the following terms.

1) The shareholders of J Ltd. are to be paid Rs. 50 in Cash and the offer of four
shares of Rs. 10 each in H Ltd. for every share of J Ltd. (J Ltd. has 5,00,000
equity shares outstanding).

2) The debenture holders holding 25,000 debentures of Rs. 100/- each are to be
redeemed at a premium of 12%.

3) Costs of liquidation amounting to Rs. 1,00,000/- are to be borne by H Ltd.

The Purchase consideration would be

a) Rs. 4.50 Crores
b) Rs. 4.51 Crores
c) Rs. 4.76 Crores
d) Rs. 4.79 Crores

H feifdres, ] fefdes & aprRiar @ foeafaRaa oaf uzs 3ma
3ferepr A oa B fou JAsdad 2

1) ] fofdee & RuR®BI W ddhe FH/>. 50/— BT Hardle
fhaT Giremr & 3N J foifdHes & U 9w o fouw H
ffdes & . 10/~ ufd 9T & dI=” =¥ bl U=
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geml (J fafdes @ urd . 5,00,000/— SRS 9=
THTR=AT E)

2) fedae g, BA 25000 BdaT grur w2 @ E; O
*. 100/- "l Bda=, 12% WfFAgd @t ez I gauita
fepaT e 2

3) u¥AaTuer &1 «ATera @t AT H. 1,00,000/—~ & SiF B H
ffdes gRT ags @t SEett |

BT Ufdbe Blom
a) 3. 4.50 BAS
b) . 4.51 BAS
c) . 4.76 BAS
d . 4.79 BAUS

98.

An entity has a subsidiary which operates in a country where the exchange rates are
volatile and there are wild seasonal variations in costs and revenue. Which rates of
exchange may best be used to translate the foreign subsidiary statement of
comprehensive income?

a) Average for the year

b) Spot rate at year end

c) Average rates for each month of the year
d) Average rates for each quarter

Pl ShIS PBI Uk Ja&™b PhUel VA 29T H HrRIzd & Sal
faferar 3 3fRer & 3T doerdal Td e A AT
3dR—deld ald J8d &1 faeoft Jer=es Ppusl & JAFIT 3T
fIaRor &1 3igae dIel & [ dia AT [AferdasT =0 &1 Jaras
3uAor fpaT oI Akar & ?

BT NI |

B 3Ha A Jic <3|

P UdPh HAlE b @ NAT T3
faadl & foru g €3

a)
)
©)
)

442

;

99.

What is the main difference between Amalgamation and Absorption?

a) Amalgamation creates a new company, while Absorption does not

b) Absorption creates a new company, while Amalgamation does not

c) both result in the creation of new companies

d) Amalgamation involves selling assets, while Absorption only involves equity
exchange

JAATHSTS 3N AT B g HBT 3idT =T & 2
a) AATHAT H Udh os DUl doldl &, Oldich 3IMMAAT &
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& |
b) 3MTAAT H s BUell TeTdl &, Sidich JAHTHAST H olal |
¢) ST @ URuMeATa»Y s Bulerl aeidl & |
d) JHARAGST H an3aet o1 fama enfdHar &ar &, oafe
3TATST A PdcT SicRadt 3idIor oNfHeT areT & |

100. | Which of the following items is NOT a part of Working Capital?

a) Sundry Debtors

b) Bank Overdraft

c) Investments in Bonds (Maturing in 10 years)
d) Closing Stock

fereattaiRaa & A BT M AT BIABIST Yol T AT T8 & ?

a) Tafaer Qe

b) Jk IMa=gae

¢) dlegA A feraer (10 auf & uRua)
d) sifas =<rw

% %k %k %k k
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